
deckon.com.tr

METAL CEILING SYSTEM 
MADE OF ALUMINIUM

ENVIRONMENTAL
PRODUCT DECLARATION

ISO 14025/ EN 15804



deckon.com.tr

1. GENERAL INFORMATION

DECKON COMMERCIAL

  Declaration Number :   Issue Date :   Valid to :

  EPD-DCKN- 20190604- ALM 1   11.05.2022   11.05.2027

Scope:

This declaration applies to all aluminium ceiling system production of Deckon factory. While preparing this declarati-

on, it covers the EPD values used in aluminium suspended ceiling systems which are accepted all over the world and 

the accuracy of these values has been evaluated by different PROGRAM HOLDERS. The purpose of this declaration 

can be used in green building certification programs such as LEED, BREAM and DGNB

The owner of the declaration shall be liable for the underlying information and evidence; the Deckon shall not be liable 

with respect to manufacturer information, life cycle assessment data and evidences.

Signed for and on behalf of the manufacturer 

by Deckon Suspended Ceiling

Murat Özkalıpçı, Managing Director.

A. Ferhatpaşa Mahallesi Akdal Sokak 

      No:5 Ataşehir/İSTANBUL

T. +90-216-314-24-22/+90-216-314-24-33

M. info@deckon.com.tr



deckon.com.tr

 

  Name   Value   Unit

  Average Grammage  5.15  kg/m2

    A   -

2. PRODUCT

2.1 PRODUCT DESCRIPTION/DEFINITION

Product description / Product definition Aluminium ceiling systems are manufactured from folded, rollformed and 

partially stamped aluminium as complete kits or as individual components. The construction set comprises a top layer,

e.g. linear panel or strip panel ceilings, as well as the substructure for fastening the metal ceiling. The substructure is 

either made of aluminium or steel. It can be attached directly to the raw ceiling, can have various suspension heights 

and depends in its design on the shape, functional requirements and the weight of the linear panel.

For the placing on the market of the product in the EU/EFTA, Regulation (EU) No. /305/2011/ (CPR) applies. The pro-

ducts require a declaration of performance taking into consideration the harmonized /EN 13964/, Suspended ceilings 

- Requirements and test methods and, the CE-marking. For the use and application of the product, the respective 

national provisions apply.

Metal ceilings according to the technical regulations of the EN- 13964 are fastened by hangers directly to the loadbe-

aring component substructure or to the ceiling trim profile connected with a distance to the ceiling above.

2.2 APPLICATION

The metal ceiling systems made of aluminium are used for indoor purposes as a rectangular panel (also as special sha-

pe), panel ceiling, square cassette, expanded metal ceiling, grid ceiling or canopy ceiling used for ceiling cladding. The 

product is manufactured in accordance with the respective customer’s requirements.

2.3 TECHNICAL DATA

The following technical data apply to metal ceiling systems made of aluminium.

Constructional Data

Durability class (EN 13964)



deckon.com.tr

2.4 DELIVERY STATUS

2.5 BASE MATERIALS / ANCILLARY MATERIALS

The metal ceiling systems, construction kits and components are produced in individual sizes and can be delivered 

with or without substructure. Packaging is usually on pallets and/or packed in cardboard. Weight per area (kg/m2) 

depends on the specific product and manufacturer. A conversion table is helpful for converting the declared unit (kg/

m2) and can be requested from the respective manufacturer. Conversion is possible by means of simple multiplication 

of the results per kg by the specific basis weight.

The base material of metal ceilings made of aluminium are:

  Name   Value   Unit

  Aluminium   90   %

  Steel   < 6   %

  Surface Coating   < 3   %

  Acoustic Tissue   < 1   %

   not relevant  W/m2

  Heating output (EN ISO 14037)  not relevant  W/m2

  Sound absorption coefficient (EN
  ISO 354, EN ISO 11654)

 not relevant   %

  Airborne sound reduction (EN
  20140-9, ISO 140-3)

 not relevant   dB

Performance data of the product in accordance with the declaration of performance with respect to its essential cha-

racteristics according to /EN 13964:2014- 08/ Suspended ceilings - Requirements and test methods.

Cooling output (EN 14240)



deckon.com.tr

This product at least one partial article contains substances listed in the candidate list exceeding 0.1 percentage by 

mass: no.

This product at least one partial article contains other CMR substances in categories 1A or 1B which are not on the 

candidate list, exceeding 0.1 percentage by mass: no. Biocide products were added to this construction product or it 

has been treated with biocide

2.6 MANUFACTURE

The system components for metal ceilings are manufactured in a continuous manufacturing process. The alumini-

um sheets are mainly uncoiled, perforated (optional), stamped (optionally aligned) clipped and folded or pressed. If 

not made of precoated material, the top layers are usually provided after the cleaning process with a powder or wet 

coating. Subsequently, an acoustic fleece insert can be applied to the back by means of heat in a continuous process.

By adding heat, a hot melt adhesive embedded in the fleece is activated, which produces the adhesion of the fleece

to the back of the sheet. Stamped and perforated waste is gathered, collected by local disposal companies and sent

to the recycling loop. All production steps are carried out in compliance with the requirements and test specifications 

according to /EN 13964

2.7 ENVIRONMENT AND HEALTH DURING MANUFACTURING

Manufacturing conditions do not require any special health and safety protection measures other than those provided

by the authorities for the specific work area, e.g. safety vest, safety shoes, dust mask.

Noise-intensive installations, such as punching and straightening systems are correspondingly insulated by structural 

measures.

The statutory health and safety regulations for metal and dry construction trades as well as the respective provisions of

the construction industry, apply. The production-related exhaust air is cleaned in accordance with legal regulations.

Water/Ground:

No contamination of water or soil occurs. All values determined inside and outside the production facilities are below 

the applicable national requirements for noise protection. /EN ISO 14001/ certificates and other manufacturer-speci-

fic documents on environmental and health protection can be requested from the manufacturer.



deckon.com.tr

2.8 PRODUCT PROCESSING/INSTALLATION

2.9 PACKAGING

2.10 CONDITION OF USE

2.11 ENVIRONMENT AND HEALTH DURING USE

2.12 REFERENCE SERVICE LIFE

2.13 EXTRAORDINARY EFFECTS FIRE

The membrane of the metal ceiling system is attached to a substructure. The installation is to be carried out by trained 

personnel, usually from the area of drywall construction. The manufacturer’s instructions must be observed.

For packaging the metal ceiling systems and components wooden pallets, cardboard, polystyrene, plastic sheeting, 

steel and plastic straps are used. packaging material is easily separable and can be reused if necessary. It can be colle-

cted, sorted and sent to the regional recycling services. Residual material must be disposed of in accordance with the 

respective national guidelines.

Due to the many product variants no general cleaning and maintenance recommendation can be given. Conditions 

for a long service life are based on regular maintenance, care and repair of the product. The material composition does 

not change during service life. Documents can be requested from the respective metal ceiling system manufacturer.

There are no known interactions between the product, the environment and health. Volatile organic compounds 

(VOC) are below the valuation limit according to health-related Evaluation of Emissions of Volatile Organic Com-

pounds from Building Products

Based on the useful lives of building components according to the Sustainable Building Assessment System , Service 

Lives of components for life cycle assessment according to Assessment System for Sustainable Building (BNB), the 

reference service life of metal ceilings exceeds 50 years.

The metal ceiling systems made of aluminium declared here correspond to the class A of building products regarding 

their fire performance, according to /EN 13501-1/. The class of flaming droplets is zero and the class for smoke density 

is pre-defined as zero



deckon.com.tr

Water

There are no known effects on the environment in the event of unforeseen ingress of water.

Mechanical destruction

In the case of mechanical destruction, all of the substances remain bound. It is to be assumed that in the case of coa-

ted ceilings, lacquer chippings occur in such a small amount that there are no negative impacts on the environment.

  Fire Protection

  Name   Value

  Building material class   A1

  Smoke gas development   -

  Burning droplets   -

2.14 REUSE PHASE

2.15 DISPOSAL

The metal ceiling systems can be removed and reused without damaging the product.

In accordance with the Waste Classification Ordinance (AVV) and the European Waste List (EWL), the waste code is:

17 04 05 – Iron and steel. 

17 04 02 – Aluminium.

The declaration applies to 1 kg metal ceiling systems made of aluminium.

3. LCA: CALCULATION RULES

3.1 DECLARED UNIT



deckon.com.tr

  Declared Unit

  Name   Value   Unit

  Conversion factor to 1 kg   0,194   -

  Declared unit   1   kg

  Grammage   5,15   kg/m2

3.2 SYSTEM BOUNDARY

3.3 ESTIMATES AND ASSUMPTIONS

The Life Cycle Assessment considers the system boundaries “cradle to grave” and follows the modular construction 

system described by /EN 15804/. The LCA takes into account the following modules: 

• A1: Raw material supply (Production of precursors, packaging)

• A2: Transport of precursors

• A3: Manufacturing (Energy usage, utilization of production residues)

• A4: Transport from the gate to the site

• A5: Assembly (Installation, recycling of packaging)

• B1:  Use 

• B4: Replacement

• B5: Refurbishment

• C1: De-construction demolition

• C2: Transport to waste-processing facility

• C3: Waste processing for reuse, recovery and/or recycling

• D: Potential for reuse, recovery and/or recycling as net flows and benefit

Specific data regarding the production process was provided by the Deckon Missing data was supplemented by esti-

mates based on comparable substitutes or data used from the secondary literature and the database

Missing data set were modeled by the auditor. The thermal utilization of the packaging in the assembly stage was mo-

deled with an R1 factor of the waste incineration plant

(MVA) with R1 value > 0.6.



deckon.com.tr

All relevant data, i.e. all applied materials according to the recipe and the energy used originate from the production 

data acquisition and have been considered within the inventory analysis.

For the considered in- and outputs the actual transport distances were used. Material- and energyflows with a propor-

tion of less than 1 % were collected. Waste of upstream products, which accumulate in small quantities(˂1%) during the 

manufacturing process, was neglected. It can be assumed, that the sum of the neglected processes does not exceed 5 

% of the impact categories.

The following technical information models the basis for the declared modules or can be used for developing specific 

scenarios within the context of a building appraisal if modules are not declared (MND). The reference service life ac-

cording to /ISO 15686-1/ could not have been determined. The declaration of the reference service life underlies the 

assessment system of the Federal Institute for Research on Building, Urban Affairs and Spatial Development /BBSR/.

  Transport to the building site (A4)

Installation into the building (A5) The installation is largely manual, so no further energy expenses are needed for the 

assembly. Use or application of the installed product (B1) The metal ceiling systems are durable. Metal ceilings need 

during the service life usually no maintenance measures. Therefore during the use phase no further environmental 

effects are to be expected.

4. LCA: SCENARIOS

3.4 CUT-OFF CRITERIA

  Name   Value   Unit

  Transport distance   100   km

  Capacity utilization (Including
  empty runs)

  50   %

  Payload   27   t

  Vehicle type   34-40t   USD 4



deckon.com.tr

  Name   Value   Unit

  Replacement cycle   0   Number/RSL

  Name   Value   Unit

  Life Span (according to BBSR)   ≥ 50   a

  Name   Value   Unit

  Recyling   0,98   kg

  Energy Recovery   0,02   kg

  Replacement (B4) / Refurbıshment (B5)

  Reference Service Life

  End of Life

The replacement in a cycle of 50 years is zero, as specified in /BBSR Table 2017/ in conjunction with the reference life 

from the Sustainable Building Assessment System.

The table displayed below summarizes the results of the Life Cycle Assessment (LCA).

The results of the impact assessment do not provide any information on endpoints of the impact categories, excee-

dances of thresholds, safety margins or risks. The results refer to the declared unit of 1 kg metal ceiling systems made 

of aluminium. The LCA and Life Cycle Impact Assessment are based on the specifications of the European Standard 

using the CML method 2001 – April 2015. DESCRIPTION OF THE SYSTEM BOUNDARY (X = INCLUDED IN LCA; 

MND = MODULE NOT DECLARED

5. LCA: RESULT



deckon.com.tr

Para
meter 

  Unit   A1-A3   A4   A5   B1   B4   B5   C2   C3   D

  GWP �kgCO2-Eq�   8.63E+0   7.45E-3   1.08E-1   0.00E+0   0.00E+0   0.00E+0   7.31E-3   4.04E-2   -6.73E+0

  ODP �kgCFC11-Eq�   1.16E-11   1.58E-16   3.64E-15   0.00E+0   0.00E+0   0.00E+0   1.55E-16   1.36E-15   5.30E-10

  AP �kgSO2-Eq�   4.04E-2   3.08E-5   4.60E-5   0.00E+0   0.00E+0   0.00E+0   2.80E-5   1.63E-5   -3.22E-2

  EP �kg(PO4)3-Eq�   2.52E-3   7.83E-6   8.67E-6   0.00E+0   0.00E+0   0.00E+0   7.10E-6   3.02E-6   -1.87E-3

  POCP �kg ethene-Eq�   2.30E-3   -1.18E-5   1.67E-6   0.00E+0   0.00E+0   0.00E+0   -1.05E-5   9.62E-7   -1.78E-3

  ADPE �kg Sb-Eq�   1.06E-5   7.78E-10   4.98E-9   0.00E+0   0.00E+0   0.00E+0   7.63E-10   1.84E-9   -3.56E-6

  ADPF �MJ�   9.86E+1   1.00E-1   5.19E-2   0.00E+0   0.00E+0   0.00E+0   9.85E-2   1.63E-2   -7.28E+1

 R
aw

 M
at

er
ia

l S
up

p
ly

 T
ra

ns
p

or
t

 M
an

uf
ac

tu
rin

g

 T
ra

ns
p

or
t f

ro
m

 th
e 

ga
te

 to
 

 t
he

 s
ite

 A
ss

em
b

ly

 U
se

 M
ai

nt
en

an
ce

 R
ep

ai
r

 R
ep

la
ce

m
en

t

 R
ef

ur
b

is
hm

en
t

 O
p

er
at

io
na

l E
ne

rg
y 

U
se

 O
p

er
at

io
na

l W
at

er
 U

se

 D
e-

co
ns

tr
uc

tio
n 

D
em

ol
iti

on

 T
ra

ns
p

or
t

 W
as

te
 P

ro
ce

ss
in

g

 D
is

p
os

al

 R
eu

se
 -

 R
ec

ov
er

y 
- 

R
ec

yl
in

g 
-

 P
ot

en
tia

l

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

X X X X X X MND MNR X X MND MND MND X X MND X

  Results of the LCA - Environmental Impact: 1 kg Metal Ceiling Systems Made of Aluminium

  Caption

  GWP = Global warming potential; ODP = Depletion potential of the stratospheric ozone layer, AP = Acidification

  potential of land and water, EP = Eutrophication potential; POCP = Formation potential of tropospheric ozone photo

  hemical oxidants; ADPE = Abiotic depletion potential for nonfossil resources; ADPF = Abiotic depletion potential for

  fossil resources.

  Product Stage
  Construction
  Process Stage

  Use Stage
  End of Life
  Stage

  Benefits and Loads
  Beyond the System
  Boundaries



deckon.com.tr

Para
meter 

  Unit   A1-A3   A4   A5   B1   B4   B5   C2   C3   D

  PERE   �MJ�   4.86E+1   6.79E-3   4.28E-1   0.00E+0   0.00E+0   0.00E+0   6.66E-3   2.04E-1   -3.73E+1

  PERM   �MJ�   6.21E-1   0.00E+0   -4.20E-1   0.00E+0   0.00E+0   0.00E+0   0.00E+0   -2.01E-1   0.00E+0

  PERT   �MJ�   4.92E+1   6.79E-3   8.09E-3   0.00E+0   0.00E+0   0.00E+0   6.66E-3   2.82E-3   -3.73E+1

  PENRE   �MJ�   1.17E+2   1.01E-1   6.51E-1   0.00E+0   0.00E+0   0.00E+0   9.88E-2   1.87E-2   -8.67E+1

  PENRM   �MJ�   5.93E-1   0.00E+0   -5.93E-1   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0

  PENRT   �MJ�   1.18E+2   1.01E-1   5.84E-2   0.00E+0   0.00E+0   0.00E+0   9.88E-2   1.87E-2   -8.67E+1

  SM   kg   1.03E-2   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0

  RSF   �MJ�   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0

  NRSF   �MJ�   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0

  FW   �MJ�   1.17E-1   7.87E-6   3.19E-4   0.00E+0   0.00E+0   0.00E+0   7.72E-6   1.19E-4   -9.74E-2

Para
meter 

  Unit   A1-A3   A4   A5   B1   B4   B5   C2   C3   D

  HWD   �kg�   1.20E-7   6.46E-9   7.72E-10   0.00E+0   0.00E+0   0.00E+0   6.34E-9   8.67E-11   -1.29E-7

  NHWD   �kg�   1.20E+1   5.43E-4   2.15E-2   0.00E+0   0.00E+0   0.00E+0   5.33E-4   8.03E-3   -8.03E+0

  RWD   �kg�   7.30E-3   1.22E-7   2.61E-6   0.00E+0   0.00E+0   0.00E+0   1.19E-7   9.75E-7   -5.46E-3

  CRU   �kg�   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0

  MFR   �kg�   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   8.50E-1

  MER   �kg�   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0   0.00E+0

  EEE   �MJ�   0.00E+0   0.00E+0   1.20E-1   0.00E+0   0.00E+0   0.00E+0   0.00E+0   2.81E-2   0.00E+0

  EET   �MJ�   0.00E+0   0.00E+0   2.25E-1   0.00E+0   0.00E+0   0.00E+0   0.00E+0   5.27E-2   0.00E+0

  Results of the LCA - Resource Use: 1 kg Metal Ceiling Systems Made of Aluminium

  Caption

  PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM

  = Use of renewable primary energy resources used as raw materials. PERT = Total use of renewable primary energy r

  sources; PENRE = Use of non-renewable primary energy excluding non-renewable primary anergy resources used

  as raw materials; PENRM = Use of non-renewable primary energy resources used as raw materials; PENRT = Total use

  of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use of renewable secondary fuels;

  NRSF = Use of non-renewable secondary fuels; FW = Use of net fresh water.

  Caption
  HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed. RWD = Radioactive waste disposed; CRU

  = Components for re-use; MFR = Materials for recycling; MER = Materials for energy recovery; EEE = Exported electrical

  thermal energy.

*MND: Module not declared  **MDR: Module not relevant



deckon.com.tr

6. INTERPRETATION

The following figure shows the relative contributions of different Life Cycle processes and the primary energy demand 

in the form of a dominance analysis.

Relative contributions of the stages of the life cycle of 1 kg metal ceiling systems made of aluminium

Indicators of the impact assessment 

The contributions from module A1 (raw materials) dominate in almost all environmental impact categories, except 

Depletion potential of the stratospheric ozone lacer (ODP). Contributions from transport throughout the life cycle are 

below 1% for all environmental impact categories. The credits in module D originate from the avoided environmental 

effects in other product systems and arise almost exclusively through the recycling of metal scrap.

Global warming potential (GWP)

The global warming potential is mainly determined by the supply of raw materials, i.e. by the primary products. Within 

these, the production of aluminium primary products, including the upstream chains has the greatest influence on the 

GWP factor of > 96 %. However, at the end of life, the cost of providing the aluminium precursors is offset by the envi-

ronmental benefits in the form of credits for the recycling of aluminium products. Along the entire life cycle, approxi-

mately 76 % of GWP emissions are credited by metal recycling at the end of life. 

Depletion potential of the stratospheric ozone layer (ODP) The Ozone depletion potential is dominated by steel scrap 

recycling at the end of life. The ODP mainly carries R11 and R114 emissions from the upstream chain of power supply 

(especially electricity from nuclear energy).

100%

80%

60%

40%

20%

-20%

-40%

-60%

BWP 100 Jahre PENRTAP EP POCP PERT

0%



deckon.com.tr

Acidification potential of land and water (AP)

The Acidification potential is triggered to 100 % in the production stage by the raw material supply (mainly aluminium 

sheets). A credit of approximately 66 % of the total AP emissions along the life cycle is credited mainly by aluminium 

and steel recycling.

Eutrophication potential (EP)

The greatest contribution to the EP arises from the provision of raw materials with 97 %, in particular due to the high 

energy demand in the form of natural gas and electricity.

Potential of tropospheric ozone photochemical oxidants (POCP) The POCP value is generated to 100% in the produ-

ction stage by the provision of raw materials in the form of aluminium and steel sheets.

Abiotic depletion potential for non-fossil resources (ADPE)

The ADPE value is predominantly conditioned by the production stage module A1. Here, mainly the upstream chain of 

the aluminium sheet contributes almost 100 % to the overall ADPE.

Abiotic depletion potential for fossil resources (ADPF) Within the production (A1-3), the ADPF value mainly results 

from the upstream chains in module A1 (about 96 %). A credit of about 74 % is obtained mainly through the recycling 

of aluminium and steel.

Within the production (A1-3), the total primary energy demand is divided between approx. 71 % nonrenewable energy 

sources and approx. 29 % renewable energies.

Total use of non-renewable primary energy resources (PENRT) The upstream chains associated with manufacturing 

of the preliminary products (Module A1) contribute with 90 % to the production caused by the aluminium and steel 

sheets. The production of the metal ceiling systems contributes about 4 % to non-renewable energy consumption. A 

credit is issued at the end of life (60 %), which is generated by the recycling of the preliminary products. Total use of re-

newable primary energy resources (PERT) The PERT value along the entire life cycle results to 96 % from the upstream 

chains associated with the preliminary products (A1), and the production of the metal ceiling systems (A3) with 4 %. At 

the end of life, credits (module D) of 60 % can be credited for metal recycling.



deckon.com.tr

7. REQUISITE

VOC emissions

VOC values in Aluminium suspended ceiling panels with Nonwoven fabric.

  RESULT (mg/M3)

n.d = not detected

  TOTAL  VOC RESULT

  Formaldehyde   0.010   n.d   n.d

  Acetaldehyde   0.200   n.d   n.d

  Toluene   0.300   n.d   0.0037

  Tetrachloroethylene   0.250   n.d   n.d

  Xylene   0.200   0.0056   0.0054

  1,2,3-Trimethylbenzene   1.000   n.d   n.d

  1,4-Dichlorobenzene   0.060   n.d   n.d

  Ethylbenzene   0.750   n.d   n.d

  2-Butoxyethanol   1.000   n.d   n.d

  Styrene   0.250   0.0017   0.0037

Test 3 day Later (ug/m3) Test 7 day Later (ug/m3)

Result Requirement Result Requirement

Total VOC (C6C16) 15 ≤ 10000 12 ≤ 1000

Total SVOC (C16-C22) < 1 - < 1 100

R (dimensionsless) 0.02 - 0 ≤ 1

Total VOS o. NIK 10 - 9 ≤ 100

(EU-Kat 1 and 2) < 1 ≤ 10 < 1 ≤ 1



deckon.com.tr

8. RECYCLE

9. REACH

Recycled Scrap consumption

Recycled Content Verification as an innovation, suppliers and manufacturers; Establishing and certifying the manage-

ment system to support the verification and forwarding of pre-consumer and/or post-consumer recycled content in 

materials, products or packaging according to global labeling standards.

ISO 14021 Document basic principles; Increasing energy efficiency, saving heat and water, managing natural resour-

ces, protecting human health, recycling waste materials, protecting biodiversity, limiting the consumption and release 

of hazardous chemicals, transparency in environmental processes.

*Internal Ratio (2021) : % 60 *External Ratio (2021) : % 40

  Year
  Recyled Scrap Consumption 
  (kg/tonnes liquid metal)

  Liquid Aluminium Production 
  (tonnes)

  2014   0.200   n.d

  2015   0.300   n.d

  2016   0.250   n.d

  2017   0.200   0.0056

  2018   1.000   n.d

  2019   0.060   n.d

  2020   0.750   n.d

  2021   1.000   n.d

  Test Method   Result   Requirements

  Substance Name   Cas-No   CS 1

  N-(hydroxymethyl)acrylamide   924-42-5   <0.1 %

  tris(2-methoxyethoxy)vinylsilane   1067-53-4   <0.1 %

  S-(tricyclo(5.2.l.0’2,6)deca-3-en-8(or 9)-yl O-(isopropyl or isobutyl or
  2- ethylhexyl) O-(isopropyl or isobutyl or 2-ethylhexyl) phosphorodi
  hioate

  255881-94-8   <0.1 %



deckon.com.tr

  6,6’-di-tert-butyl-2,2’-methylenedi-p-cresol   119-47-1   <0.1 %

  (±)-1,7,7-trimethyl-3-[(4-methylphenyl)methylene] bicyclo[2.2.1
  heptan-
  2-one covering any of the individual isomers and/or combinations
  thereof (4-MBC)

  -   <0.1 %

  Phenol, 4-dodecyl, branched   210555-94-5   <0.1 %

  4-isododecylphenol   27459-10-5   <0.1 %

  Phenol, 4-isododecyl-   27147-75-7   <0.1 %

  Phenol, dodecyl-, branched   121158-58-5   <0.1 %

  Phenol, (tetrapropenyl) derivatives   74499-35-7   <0.1 %

  Phenol, tetrapropylene-   57427-55-1   <0.1 %

  Orthoboric acid, sodium salt (group)   -   <0.1 %

  Boric acid, sodium salt   1333-73-9   <0.1 %

  Orthoboric acid, sodium salt   13840-56-7   <0.1 %

  boric acid (H3BO3), sodium salt, hydrate   25747-83-5   <0.1 %

  boric acid (H3BO3), sodium salt (1:1)   14890-53-0   <0.1 %

  Boric acid (H3BO3), disodium salt   22454-04-2   <0.1 %

  Trisodium orthoborate   14312-40-4   <0.1 %

  Medium-chain chlorinated paraffins (MCCP)   -   <0.1 %

  Alkanes, C14-17, chloro   85535-85-9   <0.1 %

  Tetradecane, chloro derivs.   198840-65-2   <0.1 %

  Alkanes, C14-16, chloro   1372804-76-6   <0.1 %

  di-, tri- and tetrachlorotetradecane   -   <0.1 %

  glutaral   111-30-8   <0.1 %

  4,4’-(1-methylpropylidene)bisphenol   77-40-7   <0.1 %

  2-(4-tert-butylbenzyl)propionaldehyde and its individual stereois
  mers

  -   <0.1 %

  (2R)-3-(4-tert-butylphenyl)-2-methylpropanal   75166-31-3   <0.1 %

  2-(4-tert-butylbenzyl)propionaldehyde   80-54-6   <0.1 %



deckon.com.tr

  (25)-3-(4-tert-butylphenyl)-2-methylpropanal   75166-30-2   <0.1 %

  3-bramo-2,2-bis(bramomethyl)-1-propanol (TBNPA)   1522-92-5   <0.1 %

  2,2-bis(bromomethyl)propane-1,3-dial (BMP)   3296-90-0   <0.1 %

  2,3-dibrama-1-propanol (2,3-DBPA)   96-13-9   <0.1 %

  2,2-dimethylpropan-1-al, tribromo derivative (TBNPA)   36483-57-5   <0.1 %

  1,4-dioxane   123-91-1   <0.1 %

  Dioctyltin dilaurate, stannane, dioctyl-, bis(coco acyloxy) derivs., and
  any ather stannane, diactyl-, bis(fatty acyloxy) derivs. wherein

  -   <0.1 %

  C12 is the predominant carbon number of the fatty acyloxy maiety

  Dioctyltin dilaurate   3648-18-8   <0.1 %

  dioctyltin dilaurate; stannane, dioctyl-, bis(coco acyloxy) derivs.   -   <0.1 %

  Stannane, dioctyl-, bis(coco acyloxy) derivs.   91648-39-4   <0.1 %

  Bis(2-(2-methoxyethoxy)ethyl)ether   143-24-8   <0.1 %

  Dibutylbis(pentane-2,4-dionato-O,O’)tin   22673-19-4   <0.1 %

  Butyl4-hydroxybenzoate   94-26-8   <0.1 %

  2-methylimidazole   693-98-1   <0.1 %

  1-vinylimidazole   1072-63-5   <0.1 %

  Perfluorobutane sulfonic acid (PFBS) and its salts   -   <0.1 %

  1,1,2,2,3,3,4,4,4-nonafluorobutane-1-sulphonic acid   375-73-5   <0.1 %

  Potassium 1,1,2,2,3,3,4,4,4-nonafluorobutane-1-sulphonate   29420-49-3   <0.1 %

  N,N,N-trıetnyıetnanamınıum 1,ı, L,L,::ı,::ı,<ı,4,4-nonafluorobutane-1-
  sulfonate

  25628-08-4   <0.1 %

  bis(4-t-butylphenyl)iodonium perfluorobutanesulfonate   -   <0.1 %

  morpholinium perfluorobutanesulfonate   503155-89-3   <0.1 %

  dimethyl(phenyl)sulfanium perfluorobutanesulfonate   220133-51-7   <0.1 %

  Triphenylsulfanium perfluorobutane sulfonate   144317-44-2   <0.1 %

  magnesium perfluorobutanesulfonate   507453-86-3   <0.1 %



deckon.com.tr

  lithium perfluorobutanesulfonate   131651-65-5   <0.1 %

  tetrabutyl-phosphonium nonafluoro-butane-1-sulfonate   220689-12-3   <0.1 %

  Diisohexyl phthalate   71850-09-4   <0.1 %

  2-methyl-1-(4-methylthiophenyl)-2-morpholinopropan-1-one   71868-10-5   <0.1 %

  2-benzyl-2-dimethylamino-4’-morpholinobutyrophenone   119313-12-1   <0.1 %

  Phenol, 4-nonyl-, phosphite (3:1)   3050-88-2   <0.1 %

  tris (4-nonylphenol, branch) phosphorous acid ester   -   <0.1 %

  tris(nonylphenyl) phosphite   26523-78-4

  Phenol, p-isononyl-, phosphite (3:1)   31631-13-7   <0.1 %

  Phenol, p-sec-nonyl-, phosphite   106599-06-8   <0.1 %

  4-tert-butylphenol   98-54-4   <0.1 %

  2-methoxyethyl acetate   110-49-6   <0.1 %

  2,3,3,3-tetrafluoro-2-(heptafluoropropoxy)propionic acid   13252-13-6   <0.1 %

  potassium 2,3,3,3-tetrafluoro-2-(heptafluoropropoxy)propionate   67118-55-2   <0.1 %

  2,3,3,3-tetrafluoro-2-(heptafluoropropoxy)propionyl fluoride   2062-98-8   <0.1 %

  Propanoic acid, 2,3,3,3-tetrafluoro-2-(heptafluoropropoxy)-, (-)-   75579-40-7   <0.1 %

  Propanoic acid, 2,3,3,3-tetrafluoro-2-(heptafluoropropoxy)-, (+)-   75579-39-4   <0.1 %

  1-Hexanesulfonic acid, 1,1,2,2,3,3,4,4,5,5,6,6,6-tridecafluoro-, zinc salt   70136-72-0   <0.1 %

  Sulfonium, [4-[(2-methyl-1-oxo-2- propenyl)oxy]phenyl]diphenyl-,
  salt with 1,1,2,2,3,3,4,4,5,5,6,6,6-tridecafluoro-1-hexanesulfonic acid
  (1:1), polymer with 2-ethyltricyclo[3.3.l.13,7]dec-2-yl 2-methyl-2- pr
  penoate, 3-hydroxytricyclo[3.3.l.13,7]dec-1-yl 2-methyl-2-propenoate
  and tetrahydro-2-oxo-3-furanyl 2-methyl-2- propenoate

  911027-69-5   <0.1 %

  4-(2,2-dimethylpentan-3-yl)phenol   861010-65-3   <0.1 %

  4-(5-methylhexan-3-yl)phenol   854904-92-0   <0.1 %

  4-(heptan-3-yl)phenol   6465-74-3   <0.1 %

  4-(heptan-2-yl)phenol   6863-24-7   <0.1 %

  4-(heptan-4-yl)phenol   6465-71-0   <0.1 %

  Lead titanium zirconium oxide   12626-81-2   <0.1 %



deckon.com.tr

  Lead titanium trioxide   12060-00-3   <0.1 %

  Lead oxide sulfate   12036-76-9   <0.1 %

  Lead monoxide (lead oxide)   1317-36-8   <0.1 %

  Lead dinitrate   10099-74-8   <0.1 %

  Formaldehyde, oligomeric reaction products with aniline   25214-70-4   <0.1 %

  Dichromium tris(chromate)   24613-89-6   <0.1 %

  Calcium arsenate   7778-44-1   <0.1 %

  Bis(2-methoxyethyl) phthalate   117-82-8

  Bis(2-methoxyethyl) ether   111-96-6   <0.1 %

  Sodium chromate   7775-11-3   <0.1 %

10. REFERENCES

EN 13501-1: 2010: Fire classification of construction products and building elements - Part 1: Classification using data 

from reaction to fire tests; German version EN 135011:2007+A1:2009

EN 13964: 2014: Suspended ceilings - Requirements and test methods;

ISO 15686-1: 2015: Buildings and constructed assets - Service life planning - Part 1: General principles

and framework.

ISO 14001: Environmental management systems - Requirements with guidance for use.

ISO 14025/ DIN EN /ISO 14025:2011-10/, Environmental labels

EN 15804/ /EN 15804:2012-04+A1 2013/, Sustainability of construction works — Environmental Product

ISO 16000-9/ Determination of the emission of volatile organic compounds from building products and furnishing - 

Emission test chamber method

ISO 14021 / This standard specifies requirements for self-declared environmental claims, including statements, sym-

bol and graphics regarding products.


